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L.

a.

b.

a,

Discuss different approaches which have been made an attempt to assign monetary valve t©
Human tesoutces since it has been identified as the most important and valuable asset to any

business organization.
{08 Marks)

Amul Plc is a Leather product manufacturing firm which currently employed 140 production
employaes, 4 work supervisors, 2 junior executives and 1 senior executive. Company decided
to recruit new supervisory and executive grade employees in order to improve its product
quality. Accordingty, during the finanéia_l year just ended, company had recruited 6 work
supervisors, 3 junior executives and 2 senior executives through one newspaper advertisement
spending Rs. 140.000/-. In addition 1o that, company had paid Rs. 47,500/~ for out sourced
recruited company which short listed applications, conducted writfen gxamination and
preliminary interviews. Company had received 200 applications for work supervisory grade, !
120 applicaﬁons for junior executive grade and 50 applications for senior executive ,r.i;rade.
Final interviews had been conducted during a public holiday. There were two interview panels
with 3 members and | staff assistant to each panel. Each parel member was paid Rs.7, 000/~
and each staff assistant was paid Rs. 1,500/- per day. Cost of meal and refreshment for a panel

was Rs.6, 000/-.

" Annual running cost of recruitment divisior of HR department was Rs.350, 000/-. Out of this

(0% is relating to this recruitment. Cosi drivers were as follows.

Advertising and out sourced company cost — number of applications received

_All other cost — number of candidates seiected.

Calculate the recruitment cost of the last year for each employee category separately.

(12 Marks}
(Total 20 Marks)

Discuss financial impact of an investment in health, wellness and weltare programe.
{08 Marks)
Al newly reeruited employees of Amul Ple were participaied o one day orientation program

which is conducted by an existing 2 work supervisors, 2 junior executives, | senior executive
and two staff assistants of the company. A set of reading material which cost was Rs, 600/~

had been distributed among all participants. In addition to that, cost of lunch and other

. refreshment per head was Rs.500/-,

Existing work supervisors, junior executives, senior executive and staff assistants are paid Rs.
' 1



137 500/-, Rs.50,000/- , Rs.75,000/- and Rs. 20,000/- respectively and newly recruited work
supervisors, junior executives and senior executives are paid RS.ZS,OOOI—, Rs. 37,500/- and Rs.
43,750/- for a month which has 25 working days.

In addition to the orientation program, 3days training for all newly recruited supervisors and 2
days training for all newly recruited junior executives and senior executives were given by the

“out sourced training company at their own training center which is situated at 32 Kilometers
(Km) away from the head office of Amul Ple. Total value of the training package was
Rs.380,000/-. This amount is allocated ovat 3 employees’ categories at the ratio of 1:1.5:2.5.
All employees were paid Rs. 20/~ per Km starting from the head office as travelling expenses.
Training division of Amul Pic engaged two days in order to organize these training programs.

Runaing cost of the training division is allocated over each program at the rate of Rs.60,000/-.
Calculate the training and development cost of each employee category.
(12 Marks)

{Total 20 Marks)

3.

a. Production employees of Amul Ple are supposed to work 40 hours per week and 50 weeks
per year. Weighted average wages per hour is Rs. 92/-. During the year, 1,200 hours were lost
due to absentesism. Supervisors spent 18 hours to manage absenteeism. To avoid lost of
production, other production empleyees worked over time and they were paid 25% over their
normal wage rate. Overhead cost of Production department, including work supeivisors cost
is allocated on hourly basis at a rate of 158/- per hour.

Calculate the absentecism cost of the last year,
(08 Marks)

b. Amul Plc manufactures three varieties of a product i,e. Nomey, Supee and Ex-supee in the
ratio of 5:3:2 from the standard batch size of output of 100 units of the product deploying

thres types of man-power. The weekly production is 10 batches of the product.

Process labour of 1000 hours is used per week at Rs. 92/ per hour. Supee and Ex-supee grades
take 20 minutes and 30 minutes of exira process labour per nait respectively, as compared to
ordinary grad of the produei.

Material handiing and setup labour costs amount to Rs. 4,800 per week and such {abour is
required per umit in the vatio of 1:2:3: for Nomey, Supee and Ex-supee grade of product

respectively.



=

a.

:h.

Inspec-.tion man power costs amount to Rs.14,800 per week and _s_uch man power is required
per unit in the ratio of 2:2:5 for Nomey, Supee and Ex-supee grade of product respectively.
Calculate the maﬁfﬁower cost of each unit of three grades of the product.

(12 Marks}

(Total 20 Marks}

Amul Ple work site employees are entitled to productivity based bonus to the exient of 10%
of savings arising out of productivity improvement as compared to the budgeted target. The -
productivity is measured in terms of output in tones per man-hout. The budgeted target for a
monih is 100,000 tones of production in 10,000 man-hour. During the last month, 125,000
tones were produced in 12,000 man-hours. According to the accounting department
budgeted contribution as Rs. 250/ per tone, |

Calculate the bonus payable amount per man-hour for the previous month.

(07 Marks)
Briefly explain main components of total labour turnover cost.
(07 Marks)
* Labour turnover can be beneficial to the firm if it properly managed”. Do agree with this

statement. Discuss.
(06 Marks)
(Total 20 marks)

a. An employee who was recruited two years back as a trainee operator at a cost of Rs. 12,000/=.

b.

He was provided with extensive in-plant iraining for the past two years. The cost incurred by
the company on his training was Rs. 45,000 and Rs. 36,000 in the first and second year,
respectively. The trainee was paid Rs. 4,000 as monthly allowance during first two years
period. After completion of his training period, he has been confirmed as one of the regular
operatots in the machine shop of the company. Assess the relevant HR investment. Assume |

“ that average cost of capital of the company is 10%.

{08 Marks)

Briefly explain the financial impact of employee attitudes and behavior

+

((G6 Marks)



C.

“Eyaluation of cosi-benefits and RCH of Workplace Health Promotion programs is having

_many measurement probjems™. Prescnt your suggestions to minimize those measurement

problems.
{06 Marks)
(Total 20 marks)
Briefly explain the financial impact of employee gssistant programs.
{05 Marks}

What is Compa — ratio? How It is calculated and how it is applied in calcuiation of labout
turn over cost?

(05 Marks)
Dyiscuss issues and challenges of Human Resource measurements.
(05 Marks)
What are the most possible reasons for labour cost variances? Explan.
(05 Marks)

(Toial 20 marks)
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